GR3 U2 L9 S1
Name: _______________________________________  Date:________________________________
You have _________ t-shirts in your factory.  Practice how you would package them.
	
	(10 Boxes=1,000T-Shirts)
Crates
	(1 Box=100T-Shirts)
Boxes
	(1 Roll=10T-Shirts)
Rolls
	(1 Loose=1T-Shirt)
Loose

	
Number of t-shirts 
	
	
	
	


 
What is another way you could package the number of t-shirts in your factory? 
	
	(10 Boxes=1,000T-Shirts)
Crates
	(1 Box=100T-Shirts)
Boxes
	(1 Roll=10T-Shirts)
Rolls
	(1 Loose=1T-Shirt)
Loose

	
Number of t-shirts 
	
	
	
	



Try again with 1,642 t-shirts in your factory.
	
	(10 Boxes=1,000T-Shirts)
Crates
	(1 Box=100T-Shirts)
Boxes
	(1 Roll=10T-Shirts)
Rolls
	(1 Loose=1T-Shirt)
[bookmark: _GoBack]Loose

	
Number of t-shirts 
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